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1 vector

e representation (coordinate)
e calculation/application

addition

— scalar multiplication
— dot product
*
G-b= |d] - \E| cosf = 170 + Y1y2 + 2122
* linear to addition/scalar multiplication
* commutative
— cross product

*

i gk
U X U= |U|V|sindi = |1 x2 x3
Y1 Y2 Y3

and 77 is determined by right hand law.
* linear to addition/scalar multiplication
* anti-commutative
* U X (Ux W)= (4 0)7— (d-9)d
1 X9 I3

xw)|=||ly1 Y2 Y3
Z1 Z9 z3
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x Volume (@, U, w) = |& - (

2 line

e equation

— in vector



3 PLANE

— In coordinate,

T = xq+ tvg
Y = Yo + tve

z = zp+ tvs

— intersection of two planes cf. section 3: plane

e distance of point and line

3 plane
e equation

— vector equation 7 - P_Q =0, P fixed point
— in coordinate A(x — x) + B(y —yo) + C(z — 20) =0
— simplified Az + By + Cz = D, where D = Axg + Byy + Czp

e intersection of two planes, cf. section 2: equation of line
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’(7=TL1 X Mo

e distance of point and plane

|PQ - i

d(Q,O[) = ‘ﬁ| 7P ca

e angle between two intersecting planes
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